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FECHA: 18-11-16

NOMBRE

a) x*—10x*+5x*+40x—-36=0

1 -10 5 40 -36 1 -9 -4 36
1 1 -9 4 36 2 2 -14 -36
1 -9 —4 36 |0 11 -7 18 [0
(x=1)(x*—9x* —4x+36)=0 (x=1)(x—2)(x*-7x-18)=0
x—1=0—[x=1]

X—2=0—>|x=2

=9
W2 —TX—18=0—> 7+\/49+7 7i11: X
b) ;(+1 +x—1:2
X —2X X
x+1  x-1_ (x 1)( ) 2x(x~2)

x(x—Z)Jr X M M M

X+14 X2 —2X—X+2 = 2x* —4x
x*—2x-3=0

244412 2i4_{ x=3

2 2
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c) V13—-x*+x=5

(\/13—x2 )2 :(5—x)2 —13-x* =25+ x* —10x

2x%> —10x+12=0— x> -5x+6=0

L _5E\25-24 5+l _

2 2

{ J3-9+3=5-52+3=5 v

x=2| 13-4+2=5-33+2=5v

d) x*-13x*+36=0

X*=y|—>y*-13y+36=0

,_13:169-144 1345 _{y=9—> X=+3

2 2

y=4—|x=42

X+7 X*—3%x+6
+— =1
X+3 X +2x-3

€)

X+7, x"—3x+6 :1_)(X+7)(X—1)+ X*—3x+6 _ (x+3)(x-1)
30D (et (eaeeT) | (esl)
X2—X+TX—=T+X*—3x+6=%x*—Xx+3x-3

X2 +Xx+2=0

y = -1+ \2/1—8 ¢ R



